
Matrix elements

Example: B+ → D∗(2007)0 l νl
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Matrix elements

Example: B+ → K∗(892)+ µ− µ+
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Some B+ decay channels with implemented matrix elements

I B+ → D̄∗(2007) νl l+

I B+ → D̄0 νl l+

I B+ → D(1)(2420)b νl l+

I B+ → D(2) ∗ (2460)b νl l+

I B+ → D(0) ∗ (2400)b νl l+

I B+ → D(1)(2430)b νl l+

I B+ → D− π+ νl l+

I B+ → D̄0 π0 νl l+

I B+ → D̄∗(2010)+ π+ νl l+

I B+ → D̄∗(2007) π0 νl l+

I B+ → π0 νl l+

I B+ → η νl l+

I B+ → ρ(770) νl l+

I B+ → ω(782) νl l+

I B+ → η′(958) νl l+

I B+ → f0(980) ντ τ+

I B+ → a0
1(1260) ντ τ+

I B+ → K+ l− l+

I B+ → K
∗+
(892) l− l+

I B+ → D̄0π+

I B+ → D̄0K+

I B+ → D̄∗(2007)π+

I B+ → D̄∗(2007)K+

I B+ → D̄0π+π0

I B+ → D̄0K+K

I B+ → D̄0Kπ+

I B+ → D̄0K+π0

I B+ → D̄∗(2007)π+π0

I B+ → D̄∗(2007)K+K

I B+ → D̄∗(2007)Kπ+

I B+ → D̄∗(2007)K+π0

I B+ → D̄0π+π+π−

I B+ → D̄0π+π0π0

I B+ → D̄0Kπ+π0

I B+ → D̄0K+π+π−

I B+ → D̄0K+π0π0

I B+ → D̄0K+K−π+

I B+ → D̄0K+Kπ0

I B+ → D̄0π+KK

I B+ → D̄0K+K+K−

I B+ → D̄∗(2007)π+π+π−

I B+ → D̄∗(2007)π+π0π0

I B+ → D̄∗(2007)Kπ+π0

I B+ → D̄∗(2007)K+π+π−

I B+ → D̄∗(2007)K+π0π0

I B+ → D̄∗(2007)K+K−π+



Some B+ decay channels with implemented matrix elements

I B+ → D̄∗(2007)K+Kπ0

I B+ → D̄∗(2007)π+KK

I B+ → π+ π0

I B+ → K+ π0

I B+ → η π+

I B+ → K+ η

I B+ → η′(958) π+

I B+ → η′(958) K+

I B+ → ω(782) π+

I B+ → K+ ω(782)

I B+ → D(s)+ π0

I B+ → a0
1(1260) π+

I B+ → K0 π+

I B+ → K+ K̄0

I B+ → f0(980) K+

I B+ → a
+
0(980) K0

I B+ → a0
0(980) K+

I B+ → a0
0(980) π+

I B+ → a
+
0(980) π0

I B+ → K∗00(1430) π+

I B+ → K̄∗00(1430) K+

I B+ → K
∗+
0(1430) π0

I B+ → K
∗+
0(1430) K̄0

I B+ → π+ π0 π0

I B+ → η π+ π0

I B+ → K0 η π+

I B+ → K+ η π0

I B+ → K+ K̄0 η

I B+ → η′(958) π+ π0

I B+ → η′(958) K0 π+

I B+ → η′(958) K+ π0

I B+ → η′(958) K+ K̄0

I B+ → K+ π0 π0

I B+ → K0 π+ π0

I B+ → K+ K̄0 π0

I B+ → π+ ρ(770) π0

I B+ → ω(782) π+ π0

I B+ → f0(980) π+ π0

I B+ → f0(980) K+ π0

I B+ → f0(980) K0 π+

I B+ → π+ π0 π0 π0

I B+ → π+ π+ π− π0



Mixing of neutral mesons – explicitely

P (N0 → N̄0) ∼
˛̨̨

q
p

˛̨̨2 `
cosh ∆Γ t

2
− cos∆m t

´
P (N̄0 → N0) ∼

˛̨̨
p
q

˛̨̨2 `
cosh ∆Γ t

2
− cos∆m t

´
CP-Violation:

˛̨̨
q
p

˛̨̨
6= 1⇐⇒ P (N0 → N̄0) 6= P (N̄0 → N0)

Implementation: e.g. B0B̄0-pairs, ∆Γ ≈ 0,
∣∣∣ q
p

∣∣∣ = 1
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Mixing of neutral mesons – CP-Violation in interference

Example: Bd → J/ΨKS

I =(λfCP
) = sin(2β)

I Simulated mistag fraction w = 0.2
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